Plan Nr.: BUs 940544 d
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	Plotinformationen: 
	Zeichnungsdatei: c:/u/edm/export/940544-d.dgn
	Plotmodelname: Standard
	Plotdatum: 23.12.2011
	Plotzeit: 16:11:54
	Plotmaßstab: 0.2000 m / MM.
	Plotersteller: u00gm
	PLT: .../plotdrv/ssb_standard.plt

	Datei: 940544-d.dgn
	Speicherort: c:/u/edm/export/940544-d.dgn
	Format: V8

	Modelle 
	Modell: 1
	Name: Standard
	Referenz: 1
	Name: 913603-e.dgn
	Pfad: c:/u/edm/export
	Dargestellt: Wahr
	Beschreibung: p0_QU_BUs
	logischer Name: p0_QU_BUs

	Referenz: 2
	Name: schriftfeld_tt_05.dgn
	Pfad: c:/u/edm/export
	Dargestellt: Wahr
	Beschreibung: Rahmen
	logischer Name: rahmen




